(Test No. 113)
Test Name : COMMERCE

Time * 9 minutes Maximum : 100 marks
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Answer ALL questions,

Each question carries ONE mark.

A change in accounting poliey is justifisd
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To comply with accounting standard
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To ensure more appropriate prosentations of the financial statement
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To comply with law
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PQRS Ltd., follows the written down velue method of depreciating machinery
year after year due to
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Comparability (b) Convenience
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Consistency (d) All of the above
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Revenue from aale of products, i= gensrally realized in the period in which
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(a) Cash is collected (b} Sale is made
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(¢) Products are manufactured (d) None of the above
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4.  Contra entries are passéd only when
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{a) Double column cash book is prepared
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Three-eolumn cash book is prepared
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{c) Simple cash book is prepared
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{d) MWone of the above
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5.  Consignment account is
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{a) Realaccount (b) Personal account
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fcy MNominal account (d) None of the above
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A proforma invoice is sent by
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{a) Consignee to Consignor (b} Consignor to Consignee
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(el Debtors to Consignes (d) Debtors to Consignor
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A company wishes to earn a 20% profit margin on selling price. What is the
profit mark up on cost, which will achieve the required profit margin?
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(a)
{c)

33%
- 20%

(b)
(d)

25%
32%
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